Efficiency vs dr

o« 0.8——
< Yo
2 0.7f
2y :
§ o6
= H
S 0.5[ -+
0.3F--41{+-
o4 {
o J..G: | :r:l
= —=— DQM_original_step ar-phasel-newgeom
© —e— DQM_mkFit_step2_tthar-phasel-newgeom
o 1. —— DQM_angle steé)z ttbar-phasel-newgeom
— D M_fast_step 7t‘t'bar-phasel-n¢.3 / eom“
L T e M :
LI AR AR R - =+
10°° 1072 10™

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.05
0.045
)
[
<l0.04
9.035
>
20.03
2
35=9.025
3]
0.02
0.015
0.0
0.005

107 1072 107
AR(TP, jet)

i A U

0963640 50 60 70 80 90 100




	Contents
	Page 1


